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THREE YEAR B.Sc. DEGREE EXAMINATION, DEC. - 2015
CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
Part - II - Physics (WM)
Paper I: Mechanics and Properties of Matter
(With Mathematics Combinations)
(New Syllabus w.e.f. 2015 - 2016)

Time : 3 Hours Max. Marks : 75
SECTION-A
QP - @
(Marks : 5x3=15)
Answer any five of the following.

1.  Explain gradient and divergence.
Qgs (Bes SBcko é_@é&éea&w:&: DBBoHISW.

2.  Explain curl of a vector field.
303 §8 €65 D560,

3.  State conservation of linear momentum Give_an example.
BHSH (BEFK D SrEeR STEes’ B,

4. Define elastic and inelastic collisions with examples.
'.g&é;éé, 9«’883;&5 oPFrErod JRD0D ATErSdsy.

5. Explain moment of inertia.

-

By EPDSHETFRD? DE60HED.
6. What is the precession of equinoxes?
SEFTEND HERBRHEFID?
7.  Define central force. Give two examples.
§o@cﬁ: DODSTID? Botb AT,
8. State the postulates of special theory of relativity.

B8 FDE drpoSo-Pridse Bends.
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SECTION-B
Dgriido - &)
(Marks : 5x12=60)

Answer all questions.

9. a)

b)
10. a)
b)
11. a)
b)
12. a)
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State and prove stoke's theorem.
8 drroeeR) BOD ArdhoSod.
Q
OR

If F =2xi+3yj+3zk , prove that the volume of a closed surface is .[ SEET O

el Soo esLéxbo{):() 08 HOSmes vV

F=2xi+3yj+3zk ©$ ‘[‘[Fds =8V 40 eeoS0d.
OR
State and prove Gauss’ divergence theorem
PR @358 drpose) B0 AdrdoSol.
If g(x,y,z)=2x’y - y*z* find V¢ ata point (2,1,-1)
#(x,y,2)=2x"y-y’z @S (2,l-1) DotoH 5 Vg Dend EHFS08.
Derive Rutherford s scattering formula.
55558 $6g5es ) aam)BoSol.
OR
Derive an equation for the motion of a variable mass system.
Sy JEEHH KS SoepEeR)) sEmBoisol.
Derive Euler’s equations for rigid body rotating about a fixed point.
2.8 B Dot ey B&HHY) 28 HK SRHSH chreod So8Beroln eavBosos.
OR
Explain Precession of a top.
Foribo HBBePR IS5B0S0R.
Define three module of elasticity. Derive the relation between them.
VBPSE Hessred Dod > e Somogrei® Paiol.
@




b)
13. a)
b)
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To double the length of a steel wire of cross-sectional area 1cm? and its young’s
modulus is 2x10""N/m?, how much force should be applied.

28 oo BiTHS Pereg lom? o aboh Hesso 210" g /&2 8K Dess> 580D
SR8 BAPACSSORS DoRoS?

OR

Define shearing force and bending moment obtain relation between them.
DErdes oo HOAD SoH E;P:é:s'szfn ARDoD & ggrie SoaotP) TP,

A steel wire of radius Imm and length 50 cm is bent into a circular arc. Calculate the
bending moment.

1 0.2, Tgegn H0an 50 Do. b Do o8 heo 85 HErses Tedore $oDKHH
TRE° DGE S0P (FrEnso Jos?

Prove that central force is conservative.

'sso@di:awo Qs 200 8 JEPHoSoE.
OR

Prove that force F = O -x)i+ 2xy]' is a conservative force.

F=("-x")i+2 xyj Q&5 w00 o JEFoBEE.
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